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40. The HCF of 598 and 874 is

v 6 ®B) 41

(© 43 . (D) 36

598 wpmitd 874er BLQLIMH Aung) 6@ erawT qurgl’é

(A) 46 . (B) 41

(C) 43 : (D) 36
39. The HCF of 108, 360, 408 is

A 4 B) 8

12 (D) 16

108, 360 wpmwb 408 < dlw eramrsefien BSLG LM Qurg) 6ue eTerT eremLig,
YeN i g : B) 8
(C) 12 (D) 16

68.  The HCF of 924, 105 and 525 is

21 (B) 84
© 105 ‘ D) 25
924, 105, 525—-@)én 8.Qum.au
@) 21 B) 84
© 105 D) 25

194. Find the “HCF” of 135 and 225

w 45 B) 40

€ 35 (D) 30

135, 225 &@ BUALim QuTs) aiGds smer
(A) 45 (B) 40
(C) 35 (D) 30
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139.

96.

The H.C.F. of 2923 and 3239 is

7
B) 47
@ 173

\y{"m

2923 whpmib 3239 Gaubflen 5.QL.a.
(A) 37
®B) 47
©." 73
D) 79

Find the H.C.F. of 108, 288, 360 .
A) 18 * : \K 36
| D) 12

| ©) 24

108, 288, 360 —a L5.Qum.cu. smewT |
(A) 18 : v . B 36
©€) 24, | O 12

Highest common factor of 90, 150, 225 is

yf 15 | B) 30

© 25° @ 20

90, 150, 225 @eneusaflen tBGL, Qung sryenf
@) 15 | ® 30
(C) 25 o Dy 20
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44, The H.C.F. of 3556 and 3444 is

M
(C) 43

3556 wimid 3444 Qeup e 8. Gum.ai.
A) 28 |
© 43

33. H.CF.of513 and 1134 s
@ 9
o
- 513 wpgib 1134-ar BLQUE Aurg smyesd
@A 9 | |
(27

(B)

D)

B
@)

€B)

D)

B)
o

32
18

32

18

81

31

81

31

100. Find the HCF of 225 and 450 by Prime Factorisation,

(A) o 15
225

(B)
D)

540
450

225, 450 @eunin@ ust sryenfl epula B.Qum.eu. sTamrs

A 15
(C) 225

(B)
@)

540
450
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6.

81.

317.

Find the H.C.F. of

23 %32 x5xT!, 22x3F x52x7°, 2*x53x7?

i 980 | ®) 870

(C) 960 (D) 840

BUQum Quig UGS WS SreT.

28 x32x5xT74, 22x3 x52x 78, 22 x53x7?

(A) 980 (B) 870
(C) 960 - (D) 840
HCF of 2°x3* x5, 2°x3?x5% and 2' x3x5%x7 is

(&) 30 G 60
(C) 48 (D) 105

29 %82 x5, 22 x3% x5% wipd 2* x3x5° xT ahu aansessarar 8.Aur.a (HCF) aéran?
A) 30 (B) 60
©y 48 | ®) 105

The H.C.F. of 2% x32 x5% x7, 23 % 3% x5%2x7? and 3x5xT7x11 is

w105 ! g B) 1155
(C) 2310 D) 27720

24 %32 x 5% x7, 23x3% x52x 7% wHgb 3x5x7x11 -er BLQUE LI
A 105 @) 1155 .
(C) 2310 (D) 27720
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41. HCF of 23, 3%, 4,5% and 15 is
@a 2° ®) 3
M 1 D) 360
2%, 32, 4, 5% wpmd 15-6r 18.Quim.eu

@ 2° ®B) 3
© 1 (D) 360

70. TthCFof4x27x3125,8x9x25x7and16x81x5x11x49is

180 -
(B) 360
- (C) 540
(D) 1260

4 x 27 x 3125, 8 x 9 x 25 x 7T wHmwb 16 x 81 x 5 x 11 x 49 Qe L5LQUY Gurrgj DL BIENS
SRS

(A) 180

(B) 360

(C) . 540

D) 1260

o4 SR meE e 20 00 10

Ty oo 18
3981727

@ F v =
© 2 @ 1
28510 LG e

@ 2 ® =
@ ‘ o)

5 5 81
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33.

96.

6 5 10 .

Th Fof —, —, —
e HCF o TR
-!; ' 1 -1
( 42 ® 21
.5 30
2 13) -
©) = (D} 7
6 5 ., 10 e ,
w1 Ig Dl & 0 Sten U@L Auing aue erarammeng)?
' | 1
A — —
(A) p; {B) 21
] 30
() - D) T
Find the HCF of l, i, E, Z, 2 and 1
2 46 810 12
1 1
A - =
. @A) 2 (B) 10
9 1
C i e
© 120 120
13567 9 R 3
E,Z,-é,g,-l—o LHmID E-m B.Qum.eu-ameu saTHils.
1 1
A - By
(A) 2 (B) 10
9 1
C = SRR
© 120 (D) 120
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2 816 10

o _ 2816
30. Fingd the HCF of 39’ 81 an 97
80 . X .
e o
© L (D) 3
81
. 2 8 16 10
B.QALT.Gl. STEHE =, = = —
IJITGN_&ITEW’ 3 9 81 27 |
(A) g - - D
3
© L | )
81 3
172. HCF of i,z,g and 2L is
' 10° 25° 35 40 ,
3 ) | ‘ 252 .
A (A) g o _ (B T
3 : . 63
\}?( 1400 o - D
9 12 18 . o1, .
10’25’ 35 WwHMID EW(H.C.F.) BLQALIE Qurrgj.a; a;r.n;rawﬂ
.3 = 252
@ -3 | e 2
63

L o |
© 100 , ' : D) 700 *
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. ' 24 8 .
92. The lgghest eommml: factor of 39’21 is
2
. (A d
A) 3
. . 8
C 2
€ T

%.-g* WwHOID %-G’i.r'b_u.lr'r Qungy sngerfiwreng

g9 -
A —
@ <
8
© 33
45. THLCF of L 729 6561

576 288 " 144

y/ 81

C - b6

81

(8} S
& O.et svehke: 81 : 729’ 6561
576 288" 144

81

A

@ 6

81

C St

© 288

@)

(B}

(D)

(€2))

@)

(B)

D)

81
144

81
72

81
144

81
72
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14.

165.

>

Find the H.C.E. of 90°b%, 18b%°, 27c’a”

o

B) 18
© 27
(D) 36

9a°h*, 18b%c*, 27c’a’ —an \B.Quin.qu sreins.

A 9
B) 18
(C) : 27
D) 36

“ Find the Highest Common Factor of 4 p2q®r, 8p°q®r?, 16 p%q*r®

@A) 4p%h® \9/ 4pg’r

© 16p*¢’r ®) 16p°g*r*
BuQuem Qurgiuesd snaws 4p°q’r, 8p°q*r?, 16p*q*r?
(A  4p*eh? (B) 4p%g*r

(C) 16p%g*r D) 16p*¢*r?
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32.

(%]
[¥1]

81.

The HCF of 35."65 324 49x y22, 14xy 22 is

@A)  Txyzt @B 7a? vzt
(C)- 7xy‘222 M7xyz
35x° y° 4'49x yz°, 14xy~"-z2-us1¢us.@un.m.

@& T ® T1aty
© T ® T
The G.C.D. of a® b*, ab®c?, a®bc..

v o B) a%*
©) a‘e (D) ot
a® b*, ab’c?, a*b’c - 8.Qum.eu - GTELIG).

(A)  ab B) a’*
(C) a'c D) a?c*

Find the GCD of 153:"y‘°‘z5 12x2 722

(A 170x%y"2°

(C) 3x4 7 5

J 3:::2

(D) 170x%y%2% .

LEUGU@GUWQ a@GsH snans : 16x y3z5 12;vc2 22

(A) 170:::4 2°

(C) 3x4 7 5

(B) 3x2 3 2
D) 170x2 i2?
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32. HCF of x* —-2xy+ y* and x'-y* is

(A) 1 (B) =x+y

W - D) x2-y?

x* —2xy + y* wpmib x* — y* —en B.Quim.eu eramuig
A 1 B) x+y

(C) x—y D)’ x*-y

@CF of 2% -2xy+y’ and £ ~y* is
@ 1 - L ® xey

-ﬂirx—y | - | ) 2oyt

x?-2xy+y® wpgo x* - y* ;g,é]u_la_rmgﬁ]@ Lﬁl:in.l@ Qurg eugsH (B.Aum.eu.) erg?
@ 1 o B) x+y ‘ |
© x-y o @ -y

@ e o
37 The H.C.F. of x* +4x-12, x® +6x” - 16x

1)

S @ x+2 L
- | | o
© 2-x.
(D) x(x-lZ) . ' _
‘ :\:2 + Ax—12 , 3+ Gxgl ~16x erémuiareup e \B.Glu.eu (FICF)
(Aj X+2 | . '
B x-2
@ - 2-%x-

M =x(x-2)
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. 1. The greatest common divisor of 2 —x—1, 4x?+ 8x +3 is

2% +1 o ® ozl
o |

(© 2x+3 T 2x-1
2x* —x -1, 4x" +Bx +3 én BLGuUp Quirg euEsS

Ay 2x+1 " S (B x-1
€ 2x+3 IR (D) 2x-1

119 What'is the G.C.D. of 6 (2x7 - 3 -‘2) 8 (4x2+‘-4-x‘+ 1')van£1 12 tz::'*’ +:7x+'3)_.?
@ 4y \.er'ztzxu) |
© " 8@z+d ?" D sy

'_‘ -

R . T

| ~ G(Zx"" 3x 2) 8(4x +4x+l)m,rggm 12 (2x +7x+3) %ﬁmmm;ﬁlmtﬁauﬁm c;ramr?
@ - 4(x+3) AP (B_) 2(2x+1) o
B R 1C T S N YO S

182. The GCDof 2x2+3x—2, 2~ x—6, x% +3x+2 is
Ay 2x-~1 : o : Mﬁz
© x-38 . @ =41
2x2+3x—2,_x2.—xw6,x2-+3x+'2—.sisrL5.Gurr‘61.|

Ay 2x-1 o - B x+2

© x-3 M x+1
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176, The HCF of x% - 6x 4+ 9, x* _ 27 ig

(A) x+3 ' ‘ '(B’ﬂr‘x—3
© #es @) o

x% —.‘Gx +9 DHIID x® ~ 27 -én BLGu Qurrg",j srrentl

.(A), x+3 S R - B x-3
S © s D) x-9
5. Hepor E2ed) g Feenin
4 8 :
(x+3)2 B (x—B)Z
(A) = (B) s

(x+3) oy 8

| —
(0]
=S

X ‘94(x_3) wiHmD %& <, Sweupiblen 8.Qu. cu 61gy?
: (x+3) (x—3_)‘i
(x+3) (x-3)
© - (D) y

A) o B) x"?

(C) ) (D) xn+l :

8.Qum.eu. sraws : x", x", x*2

@ m ot
(C) 1 (D) xn+l
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89. HCF Of am+l,am+2’amf3

(A) .Clm+6 l ) d am+l

© o | At o @ a

m+1 m+2 m+3

a™,an, a" T yRlweupdibemern 8.QuT.eu. ergy?
(A) am+6 » ' (B) am+1

© a” 2t - D) a

(A) - |
B) a+l
@ a1

A) a?-1
B) a+l
() e |



110. The H.C.F.of x* +1 and x* -1 is

(A f-l

Wa‘-}l.

x° +1 wpgid x* -1 e fueapder 8.Qur.a.

https://t.me/tnpscfree

2 +1

x-1
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188. HCF of (x2 - x), (x = 1)? s

44,

L

'(g (x=1) (B) (x—1)?
(C) x-x (D) x(x-1)

HCF of (x* - x), (x - 1)* -at7 L8L1Qn Qi &yd & ess]

(A) (x-1) ®) (x-1)
(C) ¥®*-x ! D) x(x-1)

Greatest Common Divisor of 924 and 105 is

\O/ 21 B) 23
C) 24 (D) 25
924 wpmib 105-Gern BLGL® QLTS uEES
@A) 21 B) ,23
C) 24 (D) 25

Let A=HCF of (124, 88)
B=HCFof (88,52) . |
Which of the following is true?

A=B : (B) AxB
(C)  A<B : (D) A>B

A = 124 wigib 88 e 8.Qum.ey
B =88 uhmw 52 e 5.GLm.eu
arafied Epsaain_cuhhld erg) o e bwnELH?

(A) A-B - . (B) A%B
€ A<B | (D). A>B
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40." Find the HCF of 48, 96, 528, 1584 and 2016
48 (B) 84
(C) 44 (D) 88

48, 96, 528, 1584 wiHmb 2016-ar 5. Qumr.eu.-emw serT(Hb ..
(A) 48 (B) 84
(C) 44 (D) 88

58.  The LCM of 90, 150 and 225 is
(A) 150 : (B) 2250

(C) 350 | o 450

90, 150 whmitb 225-wen Béflmy L,
A) 150 - (B) 2250
©) 350 D) 450

141. Find the LCM of (6, 20)

@ 20 : B) 40

ﬁ 60 (DY 80

(6,.20) én S&lmy Qumg wL_kiG
(A) 20 (B) 40

(C) 60 : : (D) 80
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181. Find the L.C.M. of 48, 108 and 280?

J()\ 15120

@) 15115
(C) 15100
(D) 15116

48, 108 wHmb 2808, B5.Cu.1b -3 srewTs

(A) 15120
B) 15115
(C) 15100

(D) 15116

192. The L.C.M. of 22, 54, 108, 135 and 198 is

A) 330 °
(@) 1980
' 5940

(D) 11880

&G Aan(hssiu_(Herer aramseflar 5.Qum . sTawms.

22, 54, 108, 135 wmmwb 198.

@) 330
B) 1980
© 5940

(D) 11880
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6l.

Find the L.C.M of 72, 108 and 2100

& 37,800 ~ (B) 2100

(C) 36,600 ] (D) 28,400
8. Gum.w srewr. 72, 108 wpmb 2100
(A) 37,800 " | (B) 2,100

(C) 36,600 (D) 28,400

37. The LCM of 5, 6, 8, 9 and 12 is

43.

360 | | B) 180

(© 90 - - D) 120
5,6, 8 9wpgd 12-ar18.8.10. ‘

(A) 360 - ' : (B) 180
€ 90 . " D) 120

Find the LCM of 8, 15, 24 and 72.

(A) 350 - ~ jnf 360

(G 1720 D) 735

B5.81..0 srer : 8, 15, 24 wHmd 72
A 350 _ B) 360
© 720 - D) 1735
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48.

87.

43.

The least common multiple of 24, 36 and 40 is
(A) 340
€y 230 (D)

24, 36, 40 eranp crarseafler By Qurg wLkisnang
(A) 340 (B)
(© 230 (D)

The L.C.M of 148 and 18518

(A) 690 B)
& 0 o)

148, 185 ereémp erainsaflen B&flpy Qg WLk

(A 690 ' | (B)

© 740 | - (D)

LM ot 2 apd > ia
3 9

@1 360

400

360
400

760

1010

Ihttps://t.me/tnpscfree|
760 o

1010

10 - 10

b B =
T ®

10 5
C - ; : D) -
©r = . ., D) 3
2 . D Y
3 WwHDHLD P Fweupiler 5.Qum.w. (L.C.M.) erg?

10 L 10
A = B =
@A) 3 B) 9

10 5
C = =
© . O
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70.

4 TheL.C.M. of -2-

The L.C.M. of 1/3, 5/6, 2/9, 4/27 is

(1)  1/54 (B)

v 203 D)

1/3, 5/6, 2/9, 4/27 —en 8.Qum..0

A 1/54 B)
©) 20/3 (D)

@ Ky o o | (B),...}_/?;s

© 3B | v 1y

7 ; . :
— %ﬁumﬁ)gﬂdﬂ By QurgoL ki

@A) %3 o o - ® }éﬁ_'

L © 3% | I ® 149

, is
13

2

4
7

oo

36
(©) 1/1365

.g, §_, i, 3 —eor 18.Quim.o smewT
3’5 7 13 '

A) 36

(C) 1/1365

10/27

None of these

10/27

ergleyblerenen

®)
D)

- ®)

D)

1/36

12/455

1/36

12/455
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95.

- 95,

(©€)

The LCM of %,

@
©
2
3 2

A)

(A)

o] w

El

12

-35

1
36

1
2

35
1

[ I

3

@ 6

| o

.

S N
S m|e

L BUGL@® Qurg L kisTag)

3

ot

161. LCMof 3/ % and }g is -

24,34 whpo 1 w10

(4)
(©

3
6

1 .2 .1

The LCMof 1—, 1=, 2= is
4 2

3

‘ ll, 1= mmgm.zé eSlein 1. Quim 1o ereman?

@ 2
€ 4
2
4’3
4 2
© 4

36
® 91
P 36
36
.(B) o1
®) 36
(B)
()]
®
(D)
®B) 3

- ® 3
® 5

12

12
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140.  Find Least Common Multlple ot = —3— and'—7-

"10 15
84 5 3 ° 12
o = ® > © = =
- —,i DHmID 2 S dweupdlen Safly Qung) wLkiens amewr. |
5°10 15 :
84 : 5 2 12
£ e Sem—" ’ — D w—
o = ® = L© = ™
100. - Find the LCM of 0.6, 9.6 and 0.12.
A 9.4 0/ 9.6
e =93 : D) 9.0
0.6, 9.6 pgid 0.12 & 5. Qum.1b.aeus e iy .
A 9.4 (B) 9.6
© 93 ' (D) 9.0
- 63.  Find the L.C.M. of x* -1, (x-1)°
M (x-1) (x% -1) B) (x+1) (x?+1)
© (x- 1) 2+1) : D) (x+1) (x*-1)
x2 =1 -1)? eremueareunen 15.8).10. srexTs.
A) (x-1(x%-1) B) (x+1) (x*+1)

©  (x-1)(x*+1) | D (+D) (x*-1)
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25.  LCMof x* —a® and (x-a)® is

A) ('-d’)x+a) B). (x*-a*)x-a)?

\/ (x -a)® (x*> + ax +a?) (D) (xl~.~a]2(x2+ux+az)

% -a? wHmib (x - a)? - gpdweupidler 8.8 .. GTenLIg)
@  -a)x+a) ' B (*-a*)(x-a)

©) (x-a)l@x*+ax+a?) (D)  (x+a)®(x®+ax+a®)

56. LCMof x®-4¢® and (x-a)° is
@) @P-dYx+e) ® (= -d*)(x-a)

O GofFrarid) D) @+efEearsa)

x* - a® wpgd (x - t:.l)2 .m,é\u_lmp;ﬂm Lﬁmﬂg Qung wLbig (8.8.w) ag?
@ P -a)x+a) - ® @ -’ x-a)

(C) (x—c)z(x2+ax+a"’)l D) (x+a)(x®+ax+a?)
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193. Find the LCM of 3(a-1), 2(a-1), (o*-1)
@) (a+1) (a+1) ®B) (a-1F (a+1)

©) 6(a-1)(a+1) G 6G-17(@+1)

3(a-1), 2(a-1), (02 - l)—a’n B&8m Quing) OLBIE Sres.

A)  (a+1)f (a+1) B) (a-1F(a+1)

(©) 6la=1)(a+1f ' D) 6(a-1)(a+1)

35. Find the LCM of 12(x-1)® and 15(x - 1) (x +2)? '
E (A) 40— x+2)* ' ' (B} 60(x—1)*(x+2)°
A 60 (-1 +2) (D) 40 @E-1x+2)

12(x - 1)* 1ohHmy b 15¢x - 1) (x +2)? -6 LE.QI_HI',.LD _ , o
A)  40E-D(x+2)? . B 60 (x-DHx+2)
(C) 60(x-1*(x+2)* (DY 40 (x-1°(x+2)
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142. Find the LCM of 12(x~1)® and 15(x 1) (x + 2)°.

J 60(x —1)3(x + 2)%

B 60(x-1)
©) . 3(x-1

@) 3x-1(x+2)?

12(x-1)° wpmibd 15(x 1) (x + 2)* a1 8.8.0. srews.
(A)  60(x-1)>%(x+2)?

® 60(x~1)

© 3(x-1

D) 3(x-1*(x+2)°

54. Fmd the Least common mulhple of (2:: -8), (3x’ 9%+ 6) and (ﬁx’ +18x+12)
(A) 2x +2) (x +1)x-1)(x+3)
(B) 3(x-2)(x +1)(x+ 3)(;\: 1)

Ue)’ 6(x-2) (x-+2) (x+1) (x-1)
)] 6(x +2) (x-1) (x - 2)(x+3) E

(22 - 8) (8x* - 9 + 6) wppb (65* +18x+12)-Per BsAp Aung 10L_rensis srei.
-\ .2(x.+ 2)(x+ 1)(x - 1)(::-4-‘.3) .

®  3(x-2)(x+1)(x+3)(x-1)

© 6(x-2)(x+2) (x-l-i) (x-1) _

O  6(x+2)(x-1)(x-2)x+3) |
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43.

. 56.

Find LCM of 35e%¢%b, 420% ¢b?, 30ac? b°

(&) 120 a* bie | (B) 210a*b*
(C) 30abc - 2100” b ¢
35a%c%b, 424° cb?, 30ac? b° B8.Qur.b srans -

(A) 120 a® b " (B) 210q?b°
(C) 30abe ' (D) 210a%5°¢*

Find the L.C.M. of 35 a%c3b, 42 a®cb?, 30 ac?b3

(A) 7 a%blc? (B) 210 abc
JT 210 a%chs (D) 210 a?b%?
35 a2c3b, 42 a’cb?, 30 ac?b3-en 5.Quim.o.
(A) 7 a?b%? (B) 210 abe
(C) 210 adc3b? (D) 210 a%b2e?
Find the LCM of the following :
900 x%y 2, 150 xy%2%, 225x%yz
. (A) 18xyz ) ' (B) 15x%°%*
N as0xy (D) 450xyz.
Seneu@euareup e 5.GUM.Lb smeT :
90x%y 2%, 1501y%2%, 2253432
A 15xyz | - B 15x%y%°

©  450x%y%:® ' ' (D) 450xyz
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56. L.C.M.of x®>-27,(x-3)? and x>-9 is
@A) -3’ +'3)2 B) (x-3)*(x*+6x+9)

d (x —8)% (x + 3) (% + 3x + 9) (D) (x+3)2(x-3)> (x> +3x +9)

8. Qu. 1. snera
2 - 27, (x-3)* wpgo x* -9
A, =x-=3)*" (.x +£.2) B) (x-3)°x*+6x+9)

©C) (x-3)2(x+3)(xZ+3x+9) D) (x+3)*(x-3)%(x*+3x+9)

125. Whatisthe LCMof 4(x +1) and 2(x* ~1)2 ~ -~ -
- - N .“ ‘ -"' . -.. ._J "' . . , P .

(AI):_ () B j_(B)f-_«;(x'-I)-.

4

BN s IR PR N 1A

. ‘4(';;1;.1).@@@6 2[x? el)‘:rd;ru;e;rsnmiﬁl&t 88w, %rdfaajE?l'
RO @) 4l
© 4lP-1 0 T @) awel

R

70.  Least common multiple of a*, a***, a**® where ke N is
@ a* (B) a*?
© ooh+8 M s

a*, a**3 a** ke N gflweibdan Bsflm Qung wLiiE org?

(A) ak (B) akvlS
(C) aSk +8 : (D) alu-ﬁ
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'65.

28. If Pis a prime number, then the L.C.M. of Pand P+ 11s
PP +1)

[N S | (B)

_ 2
©°  (P+1)? V7 PP+

P srenugy) gn wsn eren srafléy P opmn P+ 1 s dlu sransendsren B A, (lem) ereen?

ar  P*+1 (B) w
Q) (P+1)? Dy P(P+1)

If LCM of "a" and "b" is @ and LCM of "b" and "c¢" is b, then what is the LCM of "¢" and

% ;
\(J a B b

€ ¢ (D) abc

a wHnw ber B.QurwLkiE a aaeyd b wHMD ¢ @ B.Qur wLkiiE b aaeyb QmBSTH ¢ LHMD
aas 8.Qum.o erenen?

A a ®) b

© ¢ D) abe
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148. Find the LCM of 4°,47® 4" and 47

B) 4
©c) 4°
M 47

4% 479 42 47 —gn B5.Qunr.Qu srars

A 4"
B) 4
i © 42
D) 47
164. The LCM. of 2°x3%x5x11, 2 %8 x6?x7, 2°x 3 x5 x T*x11 ' -
(&)  25x3*x5° | - -(M/‘25x3‘x53x73x11'

(© 22x3x5x7x11 _ D) 2x3x5x11x7.

29 x 3% x5x11, 2 x3* x5 x7, 25x 3% x5° x7? x 11 gyl cramsafier L.C.M. ayengy
(A) 2°x3*x5° B) 2°x3*x5°x7%x11

© 2°x3*x5xTxil D) 2x3x5x11x7

123, The G.CD. and LCM. of 90, 150, 225 is

RV P

- (Cy 90,225 L ' () 295, 150 - |

. 90, 150, 225 gyﬂu_l archsaflen £.Quma inp Lblﬂ_f;]ur;.m_
(A) 15, 450. . o (B 450,15
() 90,225 - o @ 225 150
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133.

148.

The G.C.D. of 36,156 is 12. Find their LCM.
A 468 |
® s12
() 312
M) 432
36, 156 erenrp B qrairr.a;a;’ridi £ Qure 12 eraflén élmgim‘jle'ﬂ B Sy QuITgl WL EiG SIS
(A) 468 o |
® 512
© 312
) 432

The G.C.D. of x and y is z.

Their L.C.M. is -

£ - i
LA e
© Z | | ® 2

%

x wpp ¥ erSuQua Qung uEsd 2, aefld bl Sifly Auig wL e

oy |
w Z | ® =
. . . ' y

' |
© < - @ =



aaJjosduyawyy/:sdny
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171.

- 23,

171.

If the LCM of x and y is z, what is the H.C.F of x and y?
Wz ® =
-z _ - Y

© = . D w

x, @a.umﬁla't_r B.Qump z aeflé x, ¥ e 8.Aume. erémnan?

@& 2 o® =
z y
© = o | T
x . _
" The HCF and LCM of two numbers are 12 and 144 respectwely One number is 36 the other )
number is ST : _ . - o '
@ 24 - S ® 58

.

© 2% o . ._M«gs

@@ Grama;srﬂm . Quir.eu wHHILD 8.8, o (y:an;p@u.l 12 mmgjm 144 %@LD @@ arein 36 Greoﬂeo mgu@g)rr@

f v

A) 24 o (B) 58
L © 28 B (L

The HCF and L.CM of two numbers are respectlvely 8 and 7040. If one of the two
numbers is 128, what is the other number"

@ 240 Co ®) 140

-W.«MO' ) (D) 250 ' .

@@ eramaefian 15.CLim.eu HMID LB Qum.o me;p(‘éu_l 8 m;_r)glm 7040. almgggm @@ eranr 128 eraflev,
wHRmTE eTa wrg?

@) " 240 (B) 140
©) 440 . @) 250



https://t.me/tnpscfree

156. LCM of two numbers is 150 and their HCF is 4. If one number is 50, then the other number
' is - - :

@) 15 . B) 25

© 10 E 12

- @ e@msefiar LCM 150 wpgi HCF 4 @@, sifé 9@ eréir 50 erelé D@D ereir
@ 15 | ® 25 S

© 10 . D 12

183. The G.C.D. and L.C.M. of two nurnbers are 120 and 720 respectively. H one number is 360,
the other number is : : : .

o 20 ® 220 I
© - 210 | | (@) 200
-@@ aansafid BUGUE Qureu. 120 whmb Ssfig Aum.w 720. gm arar 360 erafl mﬁ@wn@ maﬁﬁ

A) 240 o - B) . 220
© 210 o @ 200

186. The HCF of two numbers 150 and 225 is 75 then the LCM of those numhera' is

v w0 | ®) 225
© 400 | D 8

- 160, 226 e @m Grdaraaﬁah'r S.Qume 75 eraflay é{d_l(;]mcs‘urssrﬁ@ 8.Quim.10?
(&) 450 o ' | (B) 295

© 400 | D) 325
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. 37

40.

63.

The L.C.M of two numbers is 2310.and their HCF is 30. If one number is 210, the other

number is ) | :

(Aif 330 ' S CB) 1470

© 2100 - - (D) 18170 |

@@ aensaian B.Quro. 2310, a{guga.,msé. 8.Qure. 30 {Eiogjtb,‘ .ﬂmﬁ,@dn 2@ o 210 na‘ilc;h,
- WDAPN( ereT et ig | S - |
Ay -330 . (B) 1470

© . 2100 @) 16170

The LCM of two numbers is 2079 then HCF is 27. If the 1% number 189, then the 27

number is
(A) S 179 B 197
297 D) 279

Qe eremaaflean B8y Qunrg eug ererr 2079. BLIQUH Aung eu@ eretr 27. sicumbdled APpSD 6reswr
189 eraflad 26ug) eremr wimg?

N ERE] ®B) 197

(C) 297 - D) 279

The H.C.F. of two numbers is 16 and their L.C.M. is 160, If one of the numbers is 32, then
the other number is

(A 48 JE( 80
(Cy 96 (Dy 112

@m eramantlen BuGlum Gurg we kg 16 seundlear Sedlny Curg we kg 160. 32 eramug) g e
ereatlel Lo mmm & ewTanT e .

(Ay 48 (B) 80

(Cy 96 (D) 112

The HCF and LCM of two numbers are 13 and 1989 respectively. If one of the number is
117, then determine the other

@a 121 B) 131
7~ 221 D) 231
@ren® eramsafian 8.0ur.an (HCF) wpgo 5.8.0 (LCM) ydwee gpeonGu 13, 1989 erengy
2 erangy, vl @ erawrenflen Uiy 117 erafled p@mmah erawrentlen wHi) smawr
A . 121 B) 131
©) 221 (D) 231



https://t.me/tnpscfree

103.

- 176.

The LCM of 2 numbers is 2079 and thelr HCF is 27. If one af the number 13 189 then find

the other number is

@ 28 q/zgfz

© 397 ' ED) 498

@um‘r@ T selen Lﬁsﬂy Qurg eu@ eredr 2079 BLQLm Gung eu@; eremr 27. a@w R ereir 189

arafler SiBEs eraiTenamss sar(® Gy

(A 298 - ' B 297

© 397 . ©) 498

If HCF and LCM of two. numbera are 12 and 144 respectwely if one number is 36, the other

. numberls o S _ _
*_:<A> w e
© 1z S o 2

48.

13.

'_@@ srammﬂar &uGu@ Qurrg .srrr;auﬂ Lo,pgu: LSseﬂg; Qungj wn_m@, Gpmg}Gu.l 12 144 ;ﬂa.leﬂ@ '
'-Grmm;aﬂa) 9@ TRt 36 crsuﬂe) m;n@mrr@ oTeR ' '
B

© 7. Dy e

The G.C.D and L.C.M. of the expression a”, a***, a**® (k € N) are respectively

(A)A g : B) -af a

@A) o, a**? @) a*?,adt

(C) a/ a,-g (D) alz al#a

L.C.M. of a*,a**?,a**® for all ke N is

(A) aIMQ (B) ak (C) ah&G /ah-o-s

ke N argyub Gung a*,a**%,a"*® g dwapdler 8.Qumw
( A) ak+9 (B) alu (C) ak+6 (D) ak+5
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102

The GCD and LCM of two polynomials are x +1 and x° -1 respectively. If one of the

polynomials is x? +1 find the others
(A) (x* -1)(x +1) J (x* -1)(x+1)

© D6 - O  (x+D’(x* -1)

B vomnULs Caremaeseaisn Qe LHDID S.Qumw. weanGu x +1 wHmId x® -1 Cuogibd
@5 LamiLs Gareney 2% 41 araflé wHpeUs Snems.

A (& -1)@x+D. ® (¥’ ~l)(x+1)

© (x+D-1) D) (x+D°(x*-1)

LCM and HCF of two polynomlals are -1 and x+ 1 respectlvely If one of the polynomlal

is ° + 1 then the other polynom.lal is

( A) . :|:3 __.1

W @ oe

o I.t“ "

C® @ -DE+D

@(_n', ummuus Ge;rrsnmaasrﬁsm 5.Qurmo. (LCM) Ln;nguu: Lﬁ@urr & (HCF) %aatuar (l_.,oemg)@u.l x® —1
whpid * +1 %w @@ Ga;rrmeu 4+ 1 erafled mp@mng Gasrrsmu Grgr? "

L@ w1

® (& -Dx+D)

(© -1

o =D+ D)
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164.

132.

The GCD and LCM of two polynomials are x+1 and x*-1 respectively. If one of the

polynomials is x* + 1, find other one.

@A -1 . \M(“l)(xz-l)

© x*+x=1 D) x?-x+1

A uedgIpLLs Cataasaie B.QuT.e. wHmL B.Aurw WPapGu x+1 wHmbd x* -1, Gogib
@@ uonUUsCaTemeu x* +1 aafld, wHADTaET®Ds Srams.
A x*-1 (B) (x+1)(x%-1)

© x*+x-1 (D) x2-x+1

If (x+1) and 2(x+1) (:vc2 —4) are GCD and LCM of two polynomials and- if one of the

polynomial is (x +1)(x - 2) _thén the order polynomial is
@ x*-4
®) (x+1)(x+2)

(C) x+2

N~ gl TRy TR

(x +1)mmm ox+1) (x* ~4) afuapen apeopGui 1B8.Qumeu W0ppLD. B.QurL aers CararL
@uaﬁr@ LbgpiiLs Garereustandt e (x +1)(x - 2) eraflld wh@prm Caname 5?7

@ xr-4

- (B) - .(:c+1)(x+2)

| © xtz

(D) 2::_:2 +6x+4
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s

The ratio of two numbers is 3:4 and their H.C.F is 4. Find their LCM.
® 16 |

; (IY-‘!S ) |

@ 12

o

I @u’m@ GTG@ZI'EEQIT 3:4 erenm sﬁ]ﬁgg,ﬁlm 360

B.Qum.o srer

w12

© 21

mﬁg&mm.- Sieupdien LE_IGiun.m, 4 eraflad @am¢@d1

® 16
(D) 48
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140. The ratio of two numbers is 3: 4 and their H.C.F. is 4. Their L.C.M. is

@ 12
B) 16
© 24
W 48

Quan® cramsefiar cflflghser 3:4. s@wQauansafian (H.C.F) BuUQum Qurg sryendt 4.
sieiQauansafier (L.C.M.) Béflgy Qung wLkig sres

Aa 12
B) 16
©C 24
(D) 48
45.  The ratio of two numbers is 5 : 6 and their LCM is 480, then their HCF is R \
@w- 20 - - 16
© & oo s

B srarsafien shlflsn 5 : 6 whpib SeubBien S.H.0 480 araiied ﬂ@@mﬁﬂﬂﬁ'ﬂ B Qu.a e
@ 20 | ® 16 |
© & O s
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140.

50.

The ratio of two numbers is 3:4 and their H.C.F. is 4. Their L.C.M. is

A) 12
B) 16
C) 24

W a8

Quan® cramsefiar cflflghser 3:4. s@wQauansafian (H.C.F) BuUQum Qurg sryendt 4.
sieiQauansafier (L.C.M.) Béflgy Qung wLkig sres

A 12
B) 16
© 24
(D) 48

The LCM of two numbers is 20 times of their HCF and sum of LCM and HCF is 2520. If one
number is 480, what will be the half of another number?

@ 750 G 300

(C) 600 D) 2040

e aaraflen 8.0umw. (LCM) g @gar B.0ura. (HCHU Cure 20 wLhigb, Cogid '
B.Qumw wpmb B.Aure-ar saa@Bgw 2520 ysa|bd 2 6TaTg. HMEUGEHET G(F eTeRTertlan WAL
480 arafled wmH@mmm erasrenflen Lnd wHUiL ereucuare?

(A) 750 (B) 300

(C) 600 (D) 2040

The LCM of two numbers is 20 times their HCF. The sum of HCF and LCM is 2520 It' one of
‘the number i is 480 then the other number is .

@) 400 ®

N g 600 _ (D) 240

@(l_r, sramserﬂm B.Auri gpeg siger S.Qure-ér 20 LDI._rﬁhﬂm@ gl Gugib’ lBQI..IITI.D I.Dmguu:
5. @ L. 6u &t &@ﬁﬂ) 2520. gap erar 480 erafte) Lop@DT(H GTeRT wing?

4) 400 : B _ _ . ® 120

(¢) 600 ' . (D) 240
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64.

69.

The L.C.M. of two numbers is 12 times their H.C.F. The sum of H.C.F. and L.C.M. is 403.
If one number is 93, find the other

(A) 120 M]24
(C) 128 D) 134
Bm eramseiian Bedly wHOL euehl eramsafien Bublum wHiden 12 wikistgo. @ aansefen
Badlny Ay womb BUALE LAY s [H& Asras 403. @ erar 93 erarfleh WHEMM( eTaT cremen?
(A) 120 B) 124
© 128 D) 134

The H.C.F. and L.C.M. of two numbers are 50 and 250 respectively. If the first number is
divided by 2, the quotient is 50. Find the second number

A) 50 B) 100

w 125 M) 250

A erasaflen B.Qum.eu. wfj);:mlb» .Qum.p. apenCGu 50 wHmd 250. WPFD TRTM®T 2-6 UEGHEGLD
Gung ey 50 erafled B)TeRTLTEUS) GTERTEHERTS &HITERT.

@ 50 B) 100

©) 125 D) 250

The HCF lan(.i LCM of two numbers m and n are 6 and 210 respectively. If m + n = 72 then

l+l is equal to

nrl, n
1 2
B S
@ 35 35
" 3 - 5
B & 2
@ = | | ® 3

m wpmd 1 Pdu @@ aarsaiar W.AuT.al. LHNWL W.F.10. e1g WenCw 6 wHmb 210-%.&3

o RN [y (T
o _grengy, Gogyd m + n =72 erefléd = + = -&(& FLOLOTGHE) 6TE ?

. 1 4 2
@ = | C® =
o - O, w2

w

ot
W
~1
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59.

141.

A o B - S ®) 200

Three numbers are in 1 the ratio 3: 4: 5 and thelr LG M is 2400. Fmd their H.C. F

40 S Rome ® 80
(G, #° " D) 200
e erainsdr 3 41 5 Gl‘GbT[_lJ aﬁhﬂg@ﬁm i@ D eTere. amp@m .40, 2400 erafle) jaumdlen
'_LﬂGh_m'm s ", : :
@ 40 . ® %0

Three numbers are in the ratio 1 : 2 : 3. Their highest c;)mmon factor is 12. Find the.
numbers - o . :

: 12,24,36  (B) 24,4872 (©) 12,24, 48 (D) 48, 60,72

APEETY CTERTSHET 1:2:3 ) eﬁﬁgp@m p_enarar Siaupler BU@uE Qurg smyash! (H.C.F) 12 ereflés

3B TRTET WTD?

(A) 12,24, 36 . B) 24, 48, 72 (©) 12, 24, 48 (D) 48, 60, 72
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57. The LCM of two numbers is 48. The numbers are in the ratio of 2 : 3. Find the sum of the
numbers i

A) 28 (B) 32

‘}f 40 D) 64

@ran(h aansaflar B8.Qurw (LCM) 48 gsaub, Cugib ips aansd 2:3 aam OfssHaib
QmBse®, Hg Q@ aansafldar sl (g AsTeswTaTg) THHE FLLNE Q)(HEEGD?

A 28 (B) 32 .

€ 40 (D) 64

51. The L.C.M. of two nurhbers is 48. The numbefa are in the ratio 2:3. The sum of the
numbers is . ’

(A). 28 ' o ® 32

Mzto 5 D e4

Q® aamsaflan 8.0um.wo. 48, oibs eramsar 2:3 erem ldlgsded s@wpgerarar. wibs aarsafldn
S (g snam - '

(A) 28 ®B) 32

56.  The ratio of two numbers is 3 : 4 and their L.C.M is 120. The sum of numbers is
\06’ 70 (B) 140
© 35 (D) 105
@ areimsefien efldsn 3 : 4 Cogib el eramanflen sy wHiy 120 arafléd el eramsafian
gl (HOBTens eremig)
A 170 (B) 140
© 35 (D) 105
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10.

94.

The H.C.F. and L.C.M. of two numbers are 84 and 21 respectively. If the ratio of the two

numbers is 1 : 4. Find the larger of the two numbers.

A 12 (B) 48

\/ 84 = D) 108

Q@ aemsater 5.Qume. wHmd B.Gum.w. epeopCu 84, 21. 2bs aramsar 1 ¢ 4 arem eldlssHia
SiewpgeTaren. crafled sieubile @uiflu erar erg?
A 12 ' (B) 48

© 84 (D) 108

The numbers are in the ratio 15:11. Their HCF is 13, which of the following pairs can they

be?

(A) 194,143
195, 142 . . o
M 195, 143 |
' 196, 144

Brer@ ereamaer 15:11 erem eﬂ].ﬂgsps,ﬁgmm ammaaﬂaur B.Qumes 13 erafld. £Gp anpasiLcL
erawseicy r;rgeurra; .@s& (g)nq_u.;m?

(A) 194,143
{B) 195, 142
(C) 195,143

(D). 186, 144



46. The LCM of two numbers is 48. The numbers sre in the ratic 2:3. Then the sum of the
numbers is

(A 28 - ® 32 | S
o 1 o ® 61

B cradrsafion 8.8.10 48 mﬂ).glb '.ﬂd:Qmeﬁtsaﬂé A& 2.:3 arefilh sicuell(s cranaeficn s (B

&) 28 - (B) 32

© 0 | @ 64 L '

142. . If the two numbers are in the ratio of 2 : 3 and the product of their highest common factor
‘and least common multiple is 150, then find the sum of the numbers. :

a) 5 ®B) 10 («©) 20 W 25
Bran® cramaaficn Qg 2 : 3. siuQeuamsafian BLGALH Qurgy smyaf wHmID BFmp Qurg LG

- g fwapdlen QumEsS Qsrena 150 erafle, 2iks Q@ aravsaflen sal (s Asrans wing)? :
(A) 5 B) 10 (©) 20 D) 25

66. The LCM of two numbers is 36 times that of their HCF The product; of the numbers is 3600.

Find their HCF. o
10 S | -.(B)-15'

c) 8 - | __.'(D)'20 SRR

_ @I}'W@ aramaatlan (5. 8. eurengt oibs @gs&r@ @remaaﬂem S.Qu. sn (Eurrcu 36 LI aeum@arr
Gumsspuwer 3600 sraflé @;mpﬁm B QL 6. sresen? _

@ 10 N I E
© 8 L S D). 20

https://t.me/tnpscfree
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144, The LCM of two numbers is 6 times their HCF. The sum of the HCF and LCM is 210, then

- HCF is equal to
a) 1260 ‘
®) 35
G 210

A

@ree(® aramasefen S.8.0. yeng Seupdlen B5.Gumeu—en 6 WLEIE,. ngm B5.8.1. wHoD

B.Qurm.eu. &&efldn EAGERY 210 ereflcd 15.@uT. .~ mgluu

@A
®)
©
(D)

1260
35

" 210

30

182. The product of two numbers.is 1600 and their HCF is 5, the L.C.M. of the number is

w)/ 320

(B)
©
D)

1605

1595

8000

Ao aansaiar Qu@EmEssd Agrens 1600 wHmb emeusefian 18.Qurea. 5 aalld eramsafar 5.4 .0

G
(B)
©
(D

B GW.
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86.

150.

99.

The product of two relatively prime numbers is 35. Their LCM is

A 1 (B) 8

W 35 D) 15

pansQsTan LsT aarsaer Qran® aarsaflar AumEse Qgrams 35 aafld eupBlar Bef

Qurg wL_fiE
Ay 1 (B) 8
(C) 35 (D) 15

If the product of two nu.mber is 800 and their LCM is 200, then the HCF is

(A 100 o & 4

© 5 - (D) 600

Q@j Sons cramasefien AumEg Agrens 800 HHIL HeupBer LCM 200 erafie HCF ar iy

@ 100 - L ® 4
© 5 | R @) 600

The product of L C.M and H.C.F of two numbers is 24. The dlfference of two numbers is 2
then the numbers are . .

(A) 2and4
W 6andd4

(Cy 8andé

() 8and 10 ’

Bm aanaaflsn 15.8.0. wHYID B.Qu.eu e Gu@as&;pueuw 24 .5[;5,5 8w Grst;qﬂm Gﬂgﬁmn&m 2
- erafle) sifgreramseT apenmG ‘ :

(A 2whmb 4
© (B) 6upgwn4

© Buoppid6

(D) 8wpmib 10
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183,

HCF of 3240, 3600 and a third number is 36 and thelr LCM is 29% 3 x 5P <7t The thrrd
numberis . . )

A PxsxTr

@ 2x3 7

©  22x5x7?

. T = i oo . i
w _22><_35X72 . T R . e

68.

3240, 3600 mm@@mrr@ QPEIDITELG] ST e;;,é]u_@umnﬂm HCF ﬁw@ 36 ang;um &@Jm@m LCM
2L EG 24 % 3% B2 xT* asﬁﬂ@) GBS fl__pﬂTr'_r)J'l'G!.laj GTEuTT rﬂgj? . : :

(Aj 98 x52x72
B kT
©  2°x5'x7T

D) 22xFxT

Product of two ‘positive number s 34560 The LCM is sn{ty times of its GCD Then. the
deference of LCM and GCDis :

146 L ® 1424
© 1460 L @) 484

B Bens erairaatien Quansses Liwvsr S4560 sigen B.Gurr. 1o (LCM) siang) e 5. Glurr & (GCD}ar
60 wL ik E aafled B.Qum.w, B.Qur.a meﬁ];ﬁun&m -

(A) 1416 - B 1424

(C) 1460 ) 1464
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- '

185. The product of twﬁ numbers is 410'?_ and their H.C.F. is 37. The larger number is

10.

2.

(A) 185
9 1
(© 107
® 101

: Bren () crewvsetien Qusspuéar 4107. Seupdén 8.Qum.ai. 37 craféd s aamsaficr Quilu erebr

cremen?
(a) 185
® 111
© 107
® 101

Three numbers are in the ratic 2 : 3 ; 4 and their H.C.F. is 10. The numbers are
(&) 10 20 30 _ ' (B) 40 20 30
(C) 30 20 40 - o {Dy® 20 30 40

@pé{y sremsaflen eNdlsnd 23 4. &mmm;ﬂa’ﬂ B.Qumeu. 10 sraflay, Bips eramae
(A) 10 20 30 R (B} 40 20 30
(C) 20 20740 - : {Dy 20 30 40

The L.C.M. of two numbers is 495 and their H.C.F. is 5. If the sum of the numbers is 100,
then their difference is

W 10 ®) 46

€ 170 (D) 90

Q@ aarsEnsE v Befy wdiy 495. Cugib Seuedm amsaidar SLQUEX WLy 5. R aersaldn
Fal () Ozrens 100 eraifled Bicuef(m eramaaflen aflgHwimaid ereuig)

(a) 10 (B) 46

© 170 D) 90



115. The LCM and HCF of two numbers are 45 and 3 respectively, their sumn is 24, what is their
difference?

@ 2 ® 4

WG ' ® 8

B eramsaflan 158.8.0 wHmL B.Aura wapGu 45, 3 wHpb Seuphler mBz 24 erafics Bieuedm
eramsatien lGHLITESMS HTERTS.

(A) 2 B) 4

€ 6 (D) 8

51. The sum of two numbers is 2000 and their L.C.M is 21879. Find the numbers
(A) 1993, 7 (B) 1991,9

M 1989, 11 (D) 1987, 13

@ aamsaiien saHzed 2000 Heunier B.Cur.w 21879 aaflld bs aansmens snams.
(A) 1993, 7 (B) 1991, 9 '
() 198911 (D) 1987, 13

21 Find. tl'n-: %mec{a relationship between GCD and L.C.M.
I GOD.sLOM. L :
i eepstem - |https://t.meftnpsciree|

https://t.me/tnpscfree

juss ,L,C.MA.s G.LCD.
IV. LOM.>GCD. |
@ 1 - @

@@dm;m(kug mﬁi&aﬁér @G.C.D. it LCM) .élﬂu.lncn'r Qg;m_m_;
L -mu_m_U@.du;.m.ém}aﬁ.gum ' o

L _&ﬂ@u@.duw.m. i. Lﬂ;':ﬂg.(jurr.w

__ 1L ,_Lsmm._@un.;o < @ﬁtau@.@u&.m.

IV, | LS&ﬂg;Qurr.Ln > \.Bamljgﬂurr.@.
@ ® 1w
©m . @®w
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. LCM of three different numbers is 120. Which of the following cannot be their HCF?

© 24 Y

QeI Qa:sh@é;ga eremaafic 5.Gumin. 120 %m -Stpé&aﬁn.a)m&ﬂﬂd) aTg .;lﬂsnm.'mﬂa'r LB.Qurr.m..

e s ® 1z
© 2« o %
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171,

41,

86.

The H.C.F. .ot' two numbers is 8. Which one of the following .can never'bé their LCM?
@A 24 . ' 48

© 56 - : »(Jaf 60

Qran® aansefian 18.Qume. .%aﬁgj 8. &mm@mmmmg]m erpg srasT @mm&eﬁm B.0ur.b. 245
DoEsePRLTg?

A 24 - _ (B) 48

© 56 | D e

TheH.CFoftwonumberst wh;choneofthefollowmgcanneverbetthCM'? -
A 24 o S ® 48 -

© .86 -‘/‘sto

@m@ cramwﬁlal 2. Wit Qurrgs srn:anﬂ 8 craﬂso ﬁm@mwmpﬁm aBg el ala.lmﬂw Lﬁsﬁy

Quwg Lnl_mslrs@@ss @pq.u.!rrg _
@& 24 ® 48
S(© s . ) '_ D) 60

o | : . ¢
The sum of two numbers is 45. Their difference 1s 5 of their sum. Their L.C.M. is

\u( 100 B) 150

©) 200 D) 250

Qm aensailen sl Ggrans 45. el eranaaflar GCaumum® sunder sl RS QAsrensuden
% WL kisTED aafléd Sicielm cramsaflan Sifly -3 W

(B) 150

(D) 250

(A) 100
() 200
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5ls

75,

82.°

If three numbers are 2a, 5a, 7Ta, What will be their LCM?

\/ 70 a , B) 65a

(C) 75a | ’ (D) 170 qa?

-

2a, ba, Ta erenm eperm erawrsefler LSégﬂQJ Quing) eu@, eTewT 6rg)?
A4 70a | (B) 65a

©) 75a | @) 70d?

About the number of pa:u's which have 16 as their HCF and 136 as their- LCM we can
deﬁrutely say that

No such pair _e'xistg

(B) - Only one such pair exists - » S

(C). . Only two such pa;ir exist '
D) Many such pairs exist

16 g- tﬁ Gun . pseyd, 136 g ammsaﬂm LE Qumio c%;_,.s;s.;\.u.p a_sm_u.l @mm Gram.mﬂemenu umgﬂ.
£QMW|_mrrgj filh) a_gﬁu.: n&s Gsrrmo.) Q.plq.ll.|l.0 ' _

(A) &uuquuu;@mm@wmm ,

B gCrow Gmer all.ll.llq_uLJl_l_grl‘& & 6Teng)

©) @raa aquuq.uul_l_. @mw o_errmaﬁ '

D) - Sy CL gcpa; @mm&m o_eaTes

The sum of 2 numbers is 248 and their HCF is 31. What is the number of such pairs of
numbers satisfying the above condition?

(A) one M two

(C) three D) four

@Qren® eekmafiar sl DAgmms 248 Cugd sapdler BGua 31 Qis Hupgeeney isH
Qanudsigu Gy saflcr aamataas aTggmen?

Ay  geg - (B Gl

O  openp : @ prag
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86.

The L.C.M of two numbers is 48. The numbers are in the ratio 2 : 3 the sum of the

numbers is
@ 35 - M n
€ 60 | @) 111

D@ cansafiar B.4.10 48. Qeiefim aansafian eldgtisar @pa)_r_r;(SuJ 2" 3 erafled sicuellmp eramaafian

LAY
(A) 35 | ®) 40
© 60 O 111
103. 'The sum of two numbers is 187 and their HCF is 17. What is the number of such pairs of

" numbers satisfying the above condition?

(A) One (B) Four

(GK‘Five . (D) Sevep-

@@ aamsdfian sl B %nm& 187. Gmgﬁb Sfeupier tBI,Qu.s'u. 17. @bs ﬂuﬁmwmﬂ WisH

Qeiiwdsmigw Cgmysafian aramaisms assmen?
®)  gep C® e
©) =g ' D) ey

9. .What is the HCF of a?b* +2a*b? and (ab)’ - 4a’bh”?

(A) ab ' ®) a’b’

© o' T

a’b* +2a%?, (ab)” - 4a®b® @ Au erarsafien 10.GLM.6u. (HCF) crenan?

(A) ab B) a*’

©) a’b? - D) a’b?
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200. Find the LCM of a°b*, ab® and a’b’

' @ ab
B o’
© “a®®
(D) ab®

a’bt, ab®, a®b’ én 8. Qun.b. sneTs.

@A) db
®) o
©  a®®
@ ab’

53. Ifthe thheat. common factor of 65 and 117 is expreaaed in the form of 66m +117n, then find
the value of m and n.

- 3,2 . . ® 3-1 ‘ | _ R _
\ﬁle I

65 117 gfu aensaien Lﬁuﬂug Qung muaﬂﬁm 65m+11'?n e apepuGid Gr@ﬁama).
muwHw n e u:@uqserr wireneu? '

@ 82 - ® 3.-1__
(C) 23-1 . . . : (D) 21-3 '
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56.

79

Four different electronic devices make a beep after every 30 minutes, 1 hour, 1% hours and
1 hour 45 minutes respectively. All the devices beeped together at 12 noon. They will again
beep together at. ) 3

(A) 12 mid night (B) 3am

(C)  6am (IVQ a.m

BrenE GeueuCGoup Weangn 2 LGTETRSHT aplib g6l G Qaaflser wperpGur 30 HWfl_riiger,
1 wasfl 15 wenfl wpmid 1 wenfl 45 Hifl_riser. Siaas ianggib memLsD 12 wenfléE earndlenamba
@eil arpUidaned, 2GGE erAUTIE eendlenabg ¢6d GT(UIL|D

A Bl @rey 12 wexfl B)  ap.u. 3 waef

(©)  @p.u. 6 wanfl D)  ap.u. 9 wenf

A, B and C starts at same point and same direction to run around a circular station.
A complete in 252 secs, B in 308 secs and C in 198 secs. After what time they meet again at

the starting point
(A) 26 min 18 secs (B) 42 min 36 secs

(C) 45 min _ \M 46 min 12 secs

A, B, C crenm 3 puLirger @C‘Sry yerafluder, @Cr Hwswle wimb @Gy CrisHd el L wns 2 6rar
Mewemun_( * el @hmmiger. fd A eeameui 252 @mmguiaud, B 308 Qmmgufgib,
C 198 Qpmgugud efenerwm (B Hreve sHpADTIsET. euiser epamb aLEuTis Hemdiw
AL 586 epdliLmiaser : . .

(A) 26 Al ib 18 Qpmg. , B) 42 Hiflib 36 Qg

(€C)  A5HLD (D) 46 HOLD 12 Qbimig.

A, B and C starts at the same time in the same direction to run around a circular stadium.
A completes a round in 252 seconds, B in 308 seconds and C in 198 seconds, all starting at
the same point. After what time will they meet again at the starting point

(A) 26 minutes 18 seconds (B) 45 minutes 0 seconds

(C) 42 minutes 36 seconds W 46 minutes 12 seconds

A, B, C g1éu gpaumib @Gy Corzder @Gy Hamarder om aulLwomen evwgrarsmss sifl @H&dmant.
A gyenauit 252 eflemysafigud B 308 eflenmgsafigun, C 198 eflenmgssfiigns o wwé shos
Wy Lurise erefle) SjeuTaeT ppalmid gleuss G sHla qenrs eury creuaara) Gy =yEw

(A) 26 fiBiLib 18 eflemmg (B) 45 AL b 0 aSemmy

(C©) 42 Al b 36 eflemmyg. (D) 46 HblLb 12 eflammg.
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187.

A, B, C start at the same time in the same "diréction to run around a i‘ectangﬁlar garden.
LA completes a round in 252 seconds, B in 308 seconds and C in 198 seconds startmg at the _
same point. After what. tlme w:ll they meet again at the starting pomt,’ ' .

(A 20 minutés 18 seconds o

(B) 40 m.mul:es 20 seconcls
D) 30 l_nmutés

@CEIJ @L_gﬁm gj@.m:eﬂ 9@5 Hevsuen A, B C aramseunsdr Qecicis g,tusrra)a.l& sHH @@ﬂsu;pmrr L0
apeam sHft aury A 252 eﬁ'lg_srrq.a@w B 308 QEI}‘I_F)I[IQ_E@LD C 198 efipmgs@hid. TDHHE errmﬂar;parrr
QLS Gl,srn_rmﬂu_l iﬁlm@ .=°>|(2§ gja:a;&u qawﬂugm @;ﬁg} @m@jm Gr&Gena aﬁlg,nq&@m@u lﬁlgg@ .
amﬁuurrrrm - v

@ 20 ,gLal_m 18 emg,num'
L o® 40 il 120 Apmgser

84.

C(©) 46 Sifii> 12 efipmgser

.(D.) - 30 ‘Iﬂlﬂl._.l'ﬁ..lﬁﬁiT

X and Y and Z can independently complete a piece of work in 6 hours, 4 hours and 12 hours
respectively. If they work together, how much time will they take to complete that piece of

work?
(A) 3 hours (B) 5 hours
(C) 6 hours W 2 hours

XY,Z safssafCu gm Camaamwu pués 6 weflCrrbd, 4 waflCorb, 12 wafiCprb, a@sgs
Qarerdlenpet. epeumd Ganba) euCauamaeni (1piqH& ereucuerey CHID er(BHgIH QsTeTeui?

A 3 B) 5

© 6 ® 2
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189. The traffic light at one particular crossing changes after every 40 seconds. The traffic light

31.

at the next crossing changes after every 32 seconds. At a certain time they change
together. After what time will they again change together ?

A 160 sec (B) 80sec
(C) 300 sec (D) 120 sec

@ Freveuiled aerer GursGaurds Fsearsv  aflenss 40
NG Ty H@HEHSH @B (PpevD WTHFDS. HBHSS FHSILIL o 6rer
Cureaaurss Hiarsd oflerde 32 QNTTYFHEHGG P (LD
rFng. @uan®h adard@sensd @Gy GrrsHds Lommplearme,
e Rb yewar @uan@d @Gy Crrs@ed mmeugp@ oTHS 5%
QTET@HLD HITGULD GTEUGUGHTGY?

(A) 160 &feuririg. (B) 80 afleorreg.

(C) 300 aflesrmig- (D) 120 allawrmig. -

20. The greatest possible length which can be used to measure exactly the lengths 7m,

3m8Scem, 12 m95 cm is:
1) "1,5 cms 2) 25 cms
_A3Y 35 ems 4) 42 cms

Traffic lights at three different junctions change simultaneodsly at morning. 8.00 am.
The first light changes once in 30 seconds, the second once in 72 seconds, the third once in
45 seconds. After 8.00 am which is the next time they change simultanecusly?

(A) 8.03AM _ . & 8.06AM

() 8.10AM - _ . (D) 812AM

apeiGauy smend sHAVLsND o draT sTana LITgETUL| eilas@eseT srena 8.00 wallée GCT Cprsdod
wrhpoam_demer. aparnid pepGu 30 elemybG GG ST, 72 eflenmiq & (% So, 45 aﬁ?amq.eia@
@ sy wrydeanpen. 8.00 apu. Gamy BTG @uepanpd rAuTps GCY FowGHd wryd? -
(&) 803apu - ' IR B) 8.06qu :

() 8.10apu . - D) 812apu

-
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81. The traffic lights at three different read crossings change after every 48 sec, 72 sec and
108 sec respectively. If they all change simultaneously at 8 : 20 : 00 hours, then at what-
time will they again change simultaneously? . ’

(A) 8:20:48 hrs I By 8:21:12hrs
(C) 8:21:48 hrs ' M8:27:12hrs'

'Gufréi@mugi@ -mﬂdim@ sﬂerrésg,assir epary QeaucCaip sraad shfloysaiia wepGu galdeanms
48 ahlanmy s, 72 eflenmg et LoHpih 108 efemysErssl Net windng. Seme aaorCo 8 : 20 : 00
wefsafld GGy Crrdid onflere. San@u aiGurg siees gr Crosdd wrpyn?

(&)  8:20: 48 wefladr B) 8:21:12 werflsdr

(©)  8:21:48 waflaer (D) 8:27: 12 weflaet

149. " Six bells commences tolling together and toll at intervals 2, 4, 6, 8, 10 and 12 seconds.

respectively. Ii 30 minuteat how many times do they toll together? '
@ 4 R : ® 10

© 1 o\ e
2, 4, 6, 8, 10 LHyd 12 dpmy Yo ueisald SisEH w wefladr gm Gor Sigsss
AsT_hgldnpan. siee 30 AL sHd aigaar pap G CoT SlnbGib o sTans.
@ £ . (]_;)'10 '
© 15 : (D) 16
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187.

A, B, C start at the same time in the same "diréction to run around a i‘ectangﬁlar garden.
LA completes a round in 252 seconds, B in 308 seconds and C in 198 seconds startmg at the_ _
same point. After what. tlme w:ll they meet again at the starting pomt,’ ' :

(A 20 minutés 18 seconds o

(B) 40 m.mul:es 20 seconcls
D) 30 l_nmutés

@CEIJ @L_gﬁm gj@.m:eﬂ 9@5 Hevsuen A, B C aramseunsdr Qecicis g,tusrra)a.l& sHH @@ﬂsu;pmrr Bm
apeam sHft aury A 252 eﬁ'lg_srrq.a@w B 308 QEI}‘I_F)I[IQ_E@LD C 198 efipmgs@hid. TDHHE errmﬂar;parrr .
QLS Gl,srn_rmﬂu_l iﬁlm@ .=°>|(2§ gja:a;&u qawﬂugm @;ﬁg} @m@jm Gr&Gena aﬁlg,nq&@m@u lﬁlgg@ .
amﬁuurrrrm - R

@ 20 ,gLal_m 18 emg,num'
L o® 40 il 120 Apmgser

C(©) 46 Sifii> 12 efipmgser

(D) 30 QB riser
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